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o
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Lo

/x3

Colorea el resultado correcto:

22 124121

6 X b

5x2

H2 | 26 | 36

1020 |15

/x8

2 x4

56 | 58 [ 54

121 38 |10

94 x9

Q7781

5x 10

55150 5

x4

16|12 | 18

3x8&

28 | 22 | 24
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o
v Primaria gk

Lo

3x5

12115

21

5x5

25115

20

4 x 6

22 | 26

24

/x5

451 30

35

Colorea el resultado correcto:

/x4

22

28

31

qx7

59

2 x9

17

&x3

28

27

24

6 x 9

54

58

56
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L e Colorea el resultado correcto:
v Primaria &g

Lo

=

Hx5 3 x 2

24122 | 20 63|51 |49 16118 | 20

9x3 & x8&
31| 27 | 28 42 | 45 | 48 66 | 64 | 62
5x9 4 x 9
45155 [ 40 8 6 9 27 1 33 | 36
6 x5 3x 10

36 | 30 | 35 30129 33 6 | 4|2
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